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QUESTION 1

What usually happens when a sector on a disk becomes corrupted? 

A. The disk is automatically failed over. 

B. The sector is marked bad and the data is copied over from the mirrored copy. 

C. The FPGA processes the data again to resolve the corruption. 

D. An alert is sent to the monitoring alias in the Netezza event manager. 

Correct Answer: B 

 

QUESTION 2

Which of the following is MOST TRUE of how Netezza stores data? 

A. Netezza is a columnar database. 

B. Netezza is a row-based database. 

C. Netezza uses a form of columnar compression, but stores data in a row-based format. 

D. Netezza stores data in a format determined by ZoneMaps. 

Correct Answer: C 

 

QUESTION 3

Which of the following is NOT true of the GENERATE STATISTICS command? 

A. The only difference between EXPRESS and FULL statistics is how dispersion is calculated. 

B. The user can specify whether FULL or EXPRESS statistics are calculated. 

C. ZoneMaps are disabled for the duration of the GENERATE STATISTICS command. 

D. It requires specific permissions. 

Correct Answer: B 

 

QUESTION 4

Which of the following does Netezza use to ensure ACID compliance? 

A. Multiversioning 

B. Two-phase commit 

Latest 000-M87 Dumps | 000-M87 PDF Dumps | 000-M87 Study Guide                                2 / 6

https://www.passapply.com/000-M87.html
https://www.passapply.com/000-M87.html
https://www.passapply.com/000-M87.html


https://www.passapply.com/000-M87.html
2021 Latest passapply 000-M87 PDF and VCE dumps Download

C. Locking 

D. Round-robin 

Correct Answer: A 

 

QUESTION 5

Which of the following impact data distribution? 

A. The physical order that data is loaded into the table. 

B. The number of hard drives on the system. 

C. The ZoneMaps on the table columns. 

D. The ORGANIZATION KEY that is defined on the table. 

Correct Answer: B 

 

QUESTION 6

Which of the following is NOT true of Netezza event management system? 

A. Some common events are enabled by default. 

B. Custom events can be created by administrators. 

C. Netezza can natively send an email or run a command when an event is triggered. 

D. None of the above. 

Correct Answer: D 

 

QUESTION 7

With workload management, an Administrator can set aside S-Blades to be used exclusively with a given database? 

A. 1 

B. 2 

C. all 

D. 0 

Correct Answer: D 

 

QUESTION 8
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Which of the following options best completes this statement? When a query is compiled, . 

A. exactly one snippet is generated representing the entire query 

B. one snippet is generated for each join within the query 

C. the number of snippets generated depends on a number of factors, including the complexity of the query 

D. one snippet is generated for each TB of data scanned 

Correct Answer: C 

 

QUESTION 9

For the following SQL: 

What field would be used to distribute fact_table if you wanted a co-located join? 

A. DISTRIBUTE ON (id) 

B. DISTRIBUTE ON RANDOM 

C. DISTRIBUTE ON (country_code) 

D. DISTRIBUTE ON (transaction_date) 

Correct Answer: A 

 

QUESTION 10

Which of the following statements is the LEAST accurate? 

A. Skew can sometimes cause the optimizer to broadcast data during a query. 

B. Skew can occur when more data in a table is on one disk than others due to a sub-optimal distribution key. 
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C. Skew can occur despite evenly distributed tables when more data ends up on one Snippet Processor while a query is
being processed. 

D. Skew can cause query performance problems. 

Correct Answer: A 

 

QUESTION 11

Which of the following statements can be used to create a temporary table? 

A. SELECT INTO #TEMPTABLE col1, col2 FROM MYTABLE; 

B. CREATE TEMP TABLE AS TEMPTABLE SELECT col1, col2 FROM MYTABLE; 

C. CREATE TEMPORARY TABLE MYTABLE SAMEAS MYOTHERTABLE; 

D. None of the above. 

Correct Answer: B 

 

QUESTION 12

Which of the following statements about external tables is NOT accurate? 

A. Querying external tables is about the same speed as querying normal tables. 

B. Loading data via external tables is about the same speed as using the native nzload utility. 

C. External tables can be used to load remote data files via an ODBC or JDBC connection. 

D. External tables can be used to load or unload data from Netezza. 

Correct Answer: A 
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